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The "Oceanic National Park” of India is
located in

(a) Sunderban

(¢) Nicobar Islands

(b) Chilka Lake
(d) Kutch

India’s first semi high speed train “Vande
Bharat” runs between

(a) Varanasi to New Delhi
(b) New Delhi to Jammu

(¢) New Delhi to Mumbai
(d) New Delhi to Lucknow

In which of the following cities of India, the
first synthetic rubber plant of the country was
set up ?

(a) Panipat

(c) Chandigarh

(b) Sonipat
(d) Lucknow

Which is the biggest refinery in India ?
(a) Jam Nagar (b) Paradweep
(c) Digboi (d) Tatipaka

Which of the following State has longest coast
line of India ?

(a) Andhra Pradesh (b) Gujarat
(c) Tamil Nadu (d) Kerala

Which of the following systems of rocks provides
maximum amount of coal in India ?

(a) Dharwad System (b) Gondwana System
(¢) Vindhyan System (d) Tertiary System

With reference to the U.S. President’s visit
to India in Feb. 2020, which of the following
statements is/are correct ?

1. U.S. first lady Melania Trump
visited a yoga session and interacted with
students in a Delhi School.

2. The School visited by Melania Trump is
co-educational senior secondary school in
Moti Bagh, Delhi.

Select the correct answer using the codes

given below.

Codes :
(a) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

I
A
S
Committed To Excellence

.,

nav

=1

TEJAS -

s 1 “sies S T e
(a) GraTH (b) Tt i

(c) Frplam 3TE8 () =B

i 1 (R A 71 Tfie 3 I wid” wed @
(a). AR & 7§ feelt & 7R

(b) 7 feeeft & o & weA
(c)#ﬁﬁﬁ%gﬁg%m
(d)qgﬁﬁﬁﬁam%qw

s ¥ Frferian Rt 3 & s S w5 Fhn
& G T TR 7

() T (b) @Htgd

(c) TETE (d) @S

ave # ged ) e e wren &

(a) STHAR (b) 9T

(c) Toma (d) ardiareht

Fericifen & wma F Ae-a1 Toa i) aw T
TG T R 7

(a) YT (b) TTa

(c) dftreTS (d) &
ﬁm%f@aﬁﬁaagﬁﬁﬁqmﬁ[ij;{?@wﬁ
FAAT YEH HaT & ?

(a) YNETE TgE (b) TieaT Hg
ORECER:) (@) R amg

mﬁzozoﬁaaﬁﬁﬁwqﬁ-ﬁmmma;mﬁ

Freferfe ot 3 & -/ e w2 7

1. SR sy wfen i S 2 3 R
O e 9w B e v R @
At |

2. W 759 R Y1 T R et
ﬁﬁﬁwaﬁmmﬁmﬁ%ﬁﬁaﬁﬁmw

T |
9 fou e # & B |
e
(a) ¥ 1
(c)eHi 192

(b) ¥aa 2
d Fad 1 3FRTE o
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1L

Regarding Ram Mandir Trust formed in Feb.
2020. match the List — I with List — II and

select the correct answer from the codes given
below.

List - I List - II
(Name) (Position)
A. Mahant Nritya 1. Head of the '
Gopal Das Temple
Construction i
Committee !
B. Swami Govind 2. General {
Deve Giri Secretary of Trust l
C. Shri Champat 3. Treasurer of |
Rai the Trust
D. Shri Nripendra 4. President of
Mishra Ram Mandir Trust
Codes:
A B C D
(a) 1 2 3 4
®) 4 3 2 1 |
(© 2 4 1 3
(d) 3 2 4 1

Which of the following was conferred “Oscar
Award 2020” for Best Film ?

(a) Avenger (b) Gully Boy
(c) Parasite (d) Joker

Where did the first “Khelo India University” |
games take place ?

(a) Bhubaneswar
(¢) Pune

(b) New Delhi
(d) Kolkata

Given below are two statements one labelled as
Assertion (A) and the other as Reason (R) :

Assertion (A) : President Donald Trump was

aquitted by the Senate in impeachment trial

against him in February 2020. l

Reason (R) : Demacrats have majority over !

Republicans in the Senate.

Select the correct answer from the codes given

below.

Codes:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not
the correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) 1s false but (R) is true

TEJAS -1

8 walt 2020 ¥ nfda W AfRT 7= F Ty o

et — I g — 11 % 9 gafer hifsm aen

H fow e & & & I H T Hif)
T -1 gt - 11
(™) (92)

A v ga T gE 1. wi Fmior afifa

* g

B. @rl My e R 2. o & wemfaa
C. ot = W 3. 7R % P
D. #ft o fay 4. AR T F

Y

& :

A B C D

@1 2 3 4

G4 3 20 1
©@2 4 1 3

d 3 2 4 1

Tfafeg & & forn @) fhew & fog “smem
QT 20207 SH fom w2

(a) TR (b)- Tt =

(c). rraTge (d) SR

10. (2@ “Belt sEan favafiae” A #l smitE
?

11.

gqY 7
(2) WEHTER (b) ¢ feeett
(c) gor (d) Hierehram

2 2w for ™ o o @ s (A)

71 GEL 1 FROT (R) ¥ Fafea fopm mn 2

HIWH (A) : T 2020 F GRe 3 Tl S 7

%! 3T foeg w1 @ v & =l o Ran

%1 (R) : e o fafedte wigd) 61 amken Hmked

% HiEe! 6 g@m A B |

fr= fou ™ g2 § ¥ e S = === Fif |

%!

(a) 3 (A) T (R) ¥ & 3R (R), (A) H wd
T B

o(b) GH1 (A) T (R) & ? 3R (R), (A) &
TE =TE TE R

(c) (A) &g B fhg (R) omwca R

(d) (A) 3 8 fFg (R) 9 8
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13.

-14.

15.

16.

17.

How many teams participated in ICC Women’s
T-20 World Cup that was held during
February - March 2020 in Australia ?

(a) 08 () 10
(c) 12 d) 14

“International Gandhi Award 2020” for the
efforts against leprocy in the individual
category has been awarded to

(a) Yohei Sasakawa

(b) N. S. Dharmashakatu

(c) Satya Nadella

(d) Damodar Ganesh Bapat

Choose the correct option from the following :

63:9::?2:14
(a) 68 (b) 42
(c) 96 (d) 56

Choose the correct pair in which the words
bear the same relationship to each other as
the words given below pair :

Dinosaur : Dragon : : ?

(a) Evolution : Revelation

(b) Gorilla : Soldier

(c) Snow : Ice

(d) Ancient : Medieval

Which number will come next in the following
series ?

8, 15, 28, 53, ?
(a) 98 (b) 106
(c) 100 (d) 102

In the following question, a matrix of certain
character is given. These character follow a
certain trend, rowwise or columnwise. Find

out the missing character accordingly.

18 20 26
5 15 1
22 40 38
9 ? 13
(a) 18 (b) 12
(c) 10 (d) 14

12,

15,

TEJAS -]
srefern # weat-ATe 2020 % dA Imfg
s i & Afgen A-20 fova F & et i
wy feam 2
(a) 08 +(b) 10
(c) 12 (d) 14
wm%mﬁﬁﬁm@mwﬁ
“3me 2020” qﬁmﬁ%

(a) T1RS GETHTET

() T.TH. qHIEg

(c) T AT

_(d)_grHYeT O ST9E

63:9::7:14

(a) 68 (b) 42

(c) 96 -(d) 56

w& gm %1 99 Hifre, e 1 vl A T g A
FTEg AR it R gu§ g

SEAER ;o ?

(2), forpr : 2t WA

(b) Mitean : A

(c) f&m : =k

(d) I=A : eI

frfafaa Soft § S-a1 31 3 3m@m ?

8, 15, 28, 53, ?

(a) 98 (b) 106

(c) 100 (d) 102

frafafea woa § siel =1 o e (M) fom

™R |3 o FiREa wgft & smae w@ € S
GfRTEIR 3T TEER & Gehd & | o o ik

T34 $HifdT |
18 20 26
5 15 1|
p.s, 40 38
9 ? 13
(a) 18 (b) 12
(c) 10 (d) 14
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19.

20.

21.

22.

23.

24,

Mohit went 15 km to the West from his
house, then turned left and walked

20 km, then he turned East and walked
25 km and finally turning left covered
20 km. How far was he from his house ?

(a) 5 km (b) 10 km
(c) 40 km (d) 80.km

Which one of the following number is different
from other three ?

(a) 94
(c) 85

(b) 67
d) 13

‘A’is brother of B, ‘C’ is married to ‘D’ . If ‘C’ is the
nephew of ‘B’, then what is the relationship of ‘A’
with ‘D’ ?

(a) Father in law
(c) Son in law

(b) Mother in law
(d) Daughter in law

In which year “Kisan Samridhi Aayog” was

established in Uttar Pradesh ?
(a) 2016 (b) 2017
(c) 2018 (d) 2019

In which of the following district literacy rate is
the lowest ?

(a) Bulandshahr
(c) Kushinagar

(E) Shrawasti
(d) Unnao

What is the percentage of canal irrigation of
the total irrigated area in the state of Uttar
Pradesh ?

(a) 30 percent
(c) 28 percent

(b) 29 percent
(d) 27 percent

Match the List — I with List — IT and select the
correct answer from the codes given below.

List -1 List-IT
A. Brassware i. Meerut
B. Match Box ii. Saharanpur
C. Sports Goods ii.. Moradabad
D. Wood Carving iv. Bareilly
Codes:

A B C D

(a iv il il i
(b) i iv i ii
() 1 1 it iv
d i il v il

18.

19.

20.

21

23.

24.

TEJAS -1

Hifgd o W @ ufeaw & 3 15 fedt mn, fR
am ggaw 20 feft =, R a8 @ 1 3R ge
25 Tt wrer 3 3 o w gea 20 Rt i gl
T &t | 98 391 W/ feeh g woan ¢

(a) 5 Tt (b) 10 feredt

(c) 40 fedt (d) 80 feprfi

P i adn-d oo smdraftee ?
(a) 94 () 67

(c) 85 (d) 13

‘A, BHRWER CH fmgDAgan 1R C,
BH MR, @ AHD AT ?
(a) TG (b) &9

(c) THTG (d) Y

S SR A “for g e w1 e foem ad # g
a7

(a) 2016 (b) 2017
(c) 2018 (d) 2019

! Pefifeg g 1A e e w7
(a) goCIR (b) =T
() =T (d) 3=

IR Ve T4 W e Fafera & o T R & frad
T & ?

(a) 30 i (b). 29 wfewra
(c) 28 wfewra (d) 27 wfewra
ol - I gt - 11 & arw gafra i qon 9
U T %2 ¥ ¥ T I = 9w it |

gt - 1 gt - I
A. et =1 9mE i M@
B. mifag ii. HEEAR
C. @9 &1 g™ iii. JUCETE
D. Tl T Tareht iv. wteft
%

A B C D

(@ iv i i i
(b)e i v i i
(© # i i v
@ i i iv i
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25.

28.

29.

The main folklores of Uttar Pradesh are
(8) Darun, Awadhi, Braj

(b) Karuna, Bhakti, Shaira

(c) Drupad, Braj, Karuna

(d) Birha, Chaiti, Dhola

Which are the major folk dances of Uttar Pradesh ?
(a) Bihu, Ghoomar, Garba

(b) Charkula, Karma, Pandav

(c) Rau Nacha, Bhangra, Rouff

(d) Lavani, Kathak, Kathakali

Trade Facilitation Centre and Craft Museum is
established in the district of Uttar Pradesh

(a) Prayagraj
(b) Varanasi
(c) Ayodhya

(d) Amethi

The IFFCO urea plant is established in which
of the following place of U.P. ?

(a) Unchahar
(b) Aonla

(c) Jamshedpur
(d) Jagdishpur

Which one among the following is NOT
correctly matched ?

Provision Part of the
Constitution

(a) Citizenship - Part —II
(b) The Union

Territories — Part — VII
(c) The

Municipalities - Part - IX A

- Part — XV

(d) Elections

b

TEJAS -

25, 3.9 % 7EA a1 B

27T.

28.

29.

(a) g, FaHt, 5
(b) e, Wfed, AT
(c) g7, T, HEI
(d) forgn, 3t e

(a) ﬁﬁ\! gq{! W

(b) &, A1, qUSd
(¢) T3, WFTEl, T3H

(d) wrarht, e, HYH

SR G ¥ T R FET H R 3. %
S9G H g
(a) TATS

(b) SO

{c) IFEA
(d) 3wt

39 Al HREH 3.9, % Rl & @ fre v
WR?

(a) SRR

OELER

c) IR

(d) ST
fRdesR wad gfa @ e ¢

U™ i &1 |5

(a) TAPTRERT ~  Wm-I
(b), 59 TS & -  ¥W-VII
(c) TRYTfTHR - WM-IXA
(d) frafem —  Wm_XV
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30.

31.

Given below are two statements, one labelled

as Assertion (A) and the other as Reason (R) :

Assertion (A) : The executive powers of the

state are exercised to ensure the compliance of

the law of the Parliament and the laws applied

in the state.

Reason (R) : The government of India can give

necessary direction to the states by using its

executive powers.

Select the correct answer from the codes given

below.

Codes :

(a) Both A and R are true and R is the
correct explanation of A

(b) Both A and R are true and R is not the
correct explanation of A

(c) Ais true but R is false

(d) A is false but R is true

Match the List — I with List — II and select the

correct answer from the codes given below.

List - I List - II
A. Tth Schedule 1. Languages
B. 8th Schedule 2. Disqualification
on the ground
of defection
C. 9% Schedule 3. Union, State

and Concurrent
lists
D. 10th Schedule 4. Validation of

certain Acts

Codes :

A B C D
@4 2 1 3
3 1 2 4
©@2 3 4 1
(d) 3 1 4 2

30.

31.

TEJAS -1

H1=2  wy feg m &, 90 @ T AR (A) T

TE FR (R) @

FHfrweR (A) : U9 6 HETieRR wfF H I,

THE % HIEI q°1 TSl # AR A HI AT

gRfeaa ™ &g @1 2 |

WO (R) : HOA HraTierRT At 1 TEnT Heh

TR TR Tdl & aTavas few & gt 2 |

= fon ™ e A ¥ Tl IR F = AR |

e

(a) 391 A @ R @&l ® 3 R, A i @&l =arE
HT &

(b) ST A 7o R 9t @ 37 R, A =l @l A&
T 2

(c) A& § fohg R orEw 2

(d) A 3  fhgg R 50 &

=i — 150 gt - 11 % g gafea Sifsg e feg

T % B T I b TF IR |
gt -1 gt - 11
A. Fiaell g 1. HTd
B. &l g 2. T URadH &
uR | g
C. et Tt 3. §d, TS q
wwadt i
D. <&l g 4. Fo rfufem &
fadft A=
%
A B C D
(a) 4 2 1 3
s 1 2 4
@2 3 4 1
@3 1 4 2
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32.

33.

34.

Which among the following is NOT correctly
matched ?

Bodies Establishment
(a) Inter-state Council — 1990
(b) National - 1954
Development
Council
(c) Central Vigilance - 1964
Commission
(d) National Human — 1993

Rights Commission

Given below are two statements, one labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : When the payments made
by a country exceeds its receipts from tradé
of goods, services, transfer and net income is
called Current Account Deficit (CAD).
Reason (R) : Current Account Deficit (CAD)
occurs when a country exports more goods,
services and capital.

Choose the correct answer from the codes given
below.

Codes:

(a) Both A and R are true and R is the
correct explanation of A

(b) Both A and R are true and R is not the
correct explanation of A

(c) Aistrue but R is false

(d) A is false but R is true

Which of the following statement about green
bond is NOT true ?

(a) Green Bond investment is only for
climate friendly projects

(b) Green bonds were first introduced by
European Investment Fund in 2007

(c) Green Bonds are Financial Market
Innovation

(d) Green Bonds are fixed interest loan is
short date maturities

-8-

a2.

33.

34.

TEJAS -

P # @ # wd gk @ 2 7

o TR
(a) 3FR-T=A TRWG  — 1990
() T Fr TRwE - 1954
(c) ¥4 T AFT — 1964
(d) TS HEETRRR — 1993

T

12 @ Fy7 Ry ™ €, T AT (A) 70 @

1 ®rw (R) & fafa fenm mn 2

HfUHeA (A): T Toh oW F YA IqH SR &

aegat, Haa, e UE g o i wifeert

¥ wftes €1 I € 99 3@ =16 @il 9Tl (CAD)

T AT R |

W1 (R) : |16 @Il °1eT (CAD) & gl & 9

G 2w g, dei T Goht i i fr

e |

Fr=r fou ™ e § A T I w = R |

%<

(2) 291 A TUT R 87 & @UT R, A ¥ dt =amen
T 7

(b) G A 7T R & & @1 R, A ) &) &
&t e &

(cL A ¥ 2 fFg R saea B

(d) A 3w 2 fFg R o 2

B &8 F gy § A §  S-m1 e 9

TRy

(a) TR w1y Fer Faet srorary o whErTT
4 g 2/

(b) &fta wmet B Fdwem 2007 fram
B3I R e C A

(c) BRT w1vg ot aTow w2

(d) &R w19 R = wireer 3 sreqmis
IRyEar Py @
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35.

36.

37.

38.

Match the following Defence Expo and their
venues in different years.
Years Venue
A. 2016 I. Chennai
B. 2018 II. South Goa
C. 2019 ITI. Lucknow
D. 2020 IV. Hyderabad

Select the correct answer from the codes given
below.

Codes:
A B C D

@1 [ IV II
I 1 IV I
@IV Il I 1

i IV 1 I

Given below are two statements, one labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : For education and culture a
Centre for Cultural Resources and Training
(CCRT) was set up in 1979.

Reason (R) : The objective of CCRT was to
link education with culture.

Choose the correct answer from the codes given
below.

Codes :

(a) Both A and R are true and R is the
correct explanation of A

(b) Both A and R are true and R is not the
correct explanation of A
(c) A is true but R is false

(d) A is false but R is true

“Wangla Festival” is celebrated in the following
state
(a) Mizoram

(c) Manipur

(b) Meghalaya
(d) Tripura

An ultimate source of energy stored in fossil
fuels is

(a) Earth
(c) Sea

(b) Sun
(d) Moon

36

36.

37

(a) TR

TEJAS -1

g T 3N T T @t fafi= aul & @

afera i |
ad

A. 2016
B. 2018
C. 2019
D. 2020

A
I 37§

I1. gfegor i

I, dETS

IV. 85UeTq

ﬁ%ﬁqnﬁ@ﬁﬁ%‘lﬁwwml

L T

A B C D
(a) I Im mw I
(b) 11 I Iv 1III
{)IV III 1 11

@I 11mv I III

= @ we few W &, el o aIfeeem (A)
@t = Hrw (R) Fafa e mn @

R (A): Ren w wefa $ foag wpies
TETE TE aieer g (d@EaRd.) it wreE
aﬁ@ﬁﬁmﬁ%ﬁl

w01 (R) : F.H 3w A, =1 kW gt wepfd
o e o |

1 R g # @ T I H T BN |

Fe:

(a), AT A @1 R € 2 a1 R, A ! 9el e
Tl 2

(b) A4t A 71 R G4 R 91 R, A ) G =g
RGN

() A¥a ? foFg R 38 2

(d) AT TFgRET B

“Shen Iea” e s H WA S @
(a) T & ORLINCR
(c) wforge & @ Pgud

SHraret-3uA1 # THAT St 1 =9 € 2
®) o

() T3 @) s

—
Eld
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39.

40.

41.

42,

43.

44,

45,

Driving force of an ecosystem is
(a) Carbohydrate (b) Biomass
(c) Carbon (d) Solar energy

Which one of the following is essential in
corrosion of iron metal ?

(a) Oxygen only

(b) Oxygen and moisture

(c) Hydrogen only

(d) Hydrogen and moisture

Which of the following is a naturally occurring
hardest substance on the earth ?

(a) Graphite

(b) Wurtzite boron nitride
(c) Iron

(d) Diamond

Which one of the following instrument is used
for locating submerged objects in the ocean ?

(b) Ga]vangmeter
(d) Sonar

(a) Audio meter
(c) Sextant

“Ramsar Convention” is related to
(a) Climate change

(b) Pesticide pollution

(c) Ozone layer depletion

(d) Wetland conservation

Match List — I with List — IT and select the correct
answer using the codes given below :

List -1 List — II
A. Vitamin K 1. Wheat germ oil
B. Vitamin D 2. Lemon
C. Vitamin E 3. Cod-liver oil
D. Vitamin C 4. Alfa-alfa
Codes :

A B C D
@ 1 2 3 4
(b) 8 1 4 2
(© 2 3 4 1
(d) 4 3 1 2

Who among the following founded the “Lathi

Club” ?

(a) Bhagat Singh

(b) Lala Lajpat Rai

(c) Bal Gangadhar Tilak

(d) Bipin Chandra Pal

39.

. 40,

41

42.

43.

-10-

TEJAS |
a3 @1 I A Biar 8
(a)ﬁﬁﬁﬂ?@z (b) WK
(c) T (d) ¥R i

¥ fopw @ =1 5@ foRan ST B 7

(a) 3T e (b) Aeafiet
(c) Hamde (d) EHT
“THER e arEfd 2
(a) Ty giEd= &
(b) SieATIIH TguUl |
(c) T W o1 F
(d) Iy sxeror |
gt — [ = T - 11 | gafaa Hife qor 1= o
™ % T & IO H 77 HRAC

et - 1 gt - 11
A. faafim-% 1. T Yo a4«
B. fFerfim-& 2. iy
C. fyafim-3 3. HIE-Thd de
D. ferfim-= 4. IEHT-3IH
He:

A B. € D
@ 1 2 3 4
®b) 3 1 4 2
© 2 3 4 1
(d 4 3 1 2

‘g@awf#ﬁmﬁmﬁm%%aﬁﬁﬁmﬁﬁ
?

(a) wa g

(b) ST FE9d T

) ST TR Rreren

gﬁﬁhaama
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46.

47.

48.

49.

“I have no time to think about God because a
lot of work has to be done on this earth” whose
statement is above ?

(a) Swami Vivekanand
(b) Swami Dayanand Saraswati
(c) Swami Ramakrishna Paramhans

(d) Swami Ishwarchandra Vidhyasagar

Consider the following events :
1. Clive re-arrival in India

2. Treaty of Allahabad

3. Battle of Buxar

4. Warren Hastings became India’s Governor.

Select the correct chronological order of the
above events from the codes given below.

Codes :
(a) 3,2,1, 4
© 1,2 3,4

(b) 3,1,2,4
(d) ER4, 3

Match the List — I with List — IT and select the
correct answer from the codes given below :
List-1I List-II
A. Treaty of 1.-1754
Allahabad
B. Treaty of Aixla 2
Chapple
C. La Bourdannais 3.
Capture of Madras
D. Dupleix’s 4,
dismissal
Codes:
A
(a) 2
(b) 4
3
1

1746
1748

1765

(©
(d)

N N = «
BB = O
CO Wb u:t’

“Rajm-nama” is the Persian translation of which
Hindu text ?

(a) Ramayana
(c) Mahabharata

(b) Mahabashya
(d) Ashtadhyayi

-11-

1b

47

48.

TEJAS -1

“Syer % AR # G 3 forg W arg g 7€ R FAH
g\ﬂgﬁﬂﬁﬁﬁ(ﬁﬁ@ﬁmmmgﬂm
H e & 7

(a) Tt fqdepm=<

(b) Tt T T

(c) TRTHt TS THEH

(d) Tt S¥ETas fermarR

Frafafea gest w fEr Fif |

1. FATE 1 YA: WA HAFTHA

2. SATEETE &Y GfY

3. SR & I

4. 9N BfEs &1 W 1 T ST

s wena % ufd @ ¥ HreHAER

fFrfefed 5 3 ¥ wé w9 w1 w9 B |
e

(a) 3,21, 4 ®) 31,2 4

(c) 1,2,3, 4 ‘d 2,1,4,3

go- 1 =t geft- 11 % =y gafera i 7on A9

few T e @ wE I w1 w7 Hif
L et - 11
A. gorTgTETe i g 1. 1754
B. Twa 9ud i w@f 2. 1746
C. 1 g™ g g W 3R 3. 1748
D. gt &t ve=Afy 4. 1765
e :
A B C D
(@ 2 4 1 3
(). 4 3 2 1
© 38 1 2 4
@ 1 4 2 3

‘T R g T Tt aEeTe R 7
(a) TwmE (b) HETHTSH
(c) TR (d) r=eremf
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50.

51.

52.

-

TEJAS _ 1
Consider the following battles and arrange these | 50 fr=fifea ':'E" 9 feram g e IR I
in chronological order. FIHHATER Fafeyd R |
1. Battle of Kannauj L. & 1 94
I1. Battle of Chanderi 1L ¥ 1 32
III. Battle of Talikota -
IV. Battle of Chausa I 3
. =T 6
Select the correct answer from the code given o %
below. 2 for ™ Fe & & T IW F T4 Hifvg |
Codes : Fe:
(a) L IL, IV, III () II, 1V, I, 111 (a) I, II, IV, III () 1L, 1V, I, III
() IV, IL, 1, 11T (d) I, IV, II, III @© IV, 1L, I, 11 (d I, IV,II III
Arrange the following events in chronological 51. F=fafea gemadt &t 3% FHITHHATIER SHafR
order and select the correct answer from the i I F =9 Ffm
codes given below. . e A fo g2 A vl !
1. Gandhi-Irwin agreement 1. e -sfe wmsiar
2. Poona Pact 2. 1 ¥
3. Declaration of complete National 3. T:lf TS T@a—an 6t gy
Independence y, W 3
4. Civil Disobedience Campaign ‘
Codes : ke
(a) 3,4, 1,2 ®) 2,1,4,3 (a)3,4,1,2 () 2,1,4,3
© 21,34 @ 4,3,1,2 (c)2,1,3,4 d 4,3,1,2
Match the List — I with List — Il and select the | 52, gfi-T @t GEt-11 & a9 gafera $iftie aor 1 Re
correct answer using codes given below : '
List - I List - IT R % T H § FE IR F = SR
A. Indian 1. Anand Charlu T -1 gt -1
Association A 3 TRRH 1. 3w e
B. Poona 2. Surendra Nath o
Sarvjanik Benerji B. w2 @a‘-‘"a ol
Sabha C. wrag Y 3. HERa M=
C. Bombay 3. Mahadev wiRAYH TR
Presidency Govind Ranade D
. WA HERH E 4. Rieeng dea
Association
D. Madras Mahajan 4. Pherozshah - E T4
Sabha Mehta A BCD
Codes :
A B C D JA3) 2 3 4 1
(@ 2 3 4 1 b)) 2 4 3 1
®) 2 4 3 1
@ 3 4 2 1 ™ 3 4 2 1
-12-
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53.

54.

55.

56.

57.

58.

Who was the compiler of the “Imperial Gazetteer” ?
(a) Colin Clark

(b) William Wilson Hunter

(c) Charles Elliott

(d) William Digly

With reference to the establishment of Supreme
Court, which of the statement is /are correct ?
1. Supreme Court at Calcutta was
established by the Regulating Act of 1773.

2. Lemaister was the first Chief Justice of
this Court.

Select the correct answer using codes given
below.

Codes :
(a) 1only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Colour of the tag used on certified seed
bags is
(a) blue
(c) white

(b) purple
(d) golden yellow

Which one of the following is correctly matched ?

(a) Cooperative — MK Gandhi
Movement

(b) Etawah Pilot ~ —  Albert Mayer
Project

(c) Grow more — J.L. Nehru
Food Campaign

(d) Sewagram —  Vinoba Bhave
Project

First intercity electric bus service of the countr;f
under public-private partnership model in
February 2020 have been started by the State

(b) Karnataka
(d) Tamil Nadu

(a) Maharashtra
(c) Gujarat

Which of the following is NOT correctly matched
under highest crop cultivated area of Uttar

Pradesh ?

Crop District
(a) Mustard — Agra
(b) Potato — Farrukhabad
(c) Maize — Varanasi
(d) Sesame — Hamirpur

-18-

345

54.

8.

58

TEJAS -1

“fRfereT TOER % HeheeRdl B & 7

(a) HIfeH i '

() faferam foeam gt

(c)mFé'sﬁﬂE

(d) faferm feweht

gata e 6 e % gy 3 Preffea § 4

PH-T/A TG R 7

1. Sershal B ot IRt Y ST 1773 %

BT we & g ot T o)

2. TN 38 A % TN G e & |

2 feq ™ e @ v 3w H1 7T HRA |

w2 :

(a) 99 1 (b) Fad 2

(c) ol 1 3R 2 (d Far 1T 2
55, yEiltE i F A @ BRI T @ w5

TR

(a) e (b) St

(c) T (d) g der
56, Reffad s a P-w o ad @Al & 7

(a) WEHINGT A — . W F. TR

(b) 32TE1 RIS ; JFeds AR

FISER

(c) JATF 371 IT3V — . T, &

T AtEE

(d) TEEH WS - o wra

1 el el s W d wadt 2020

USRI HRIEI Higd & F=wid ¥& H awel
T

(a) HETTSS (b) FAIEH
(c) oA (d) daftreTg
Fefafea & & A7 ooy ¥ oaife v 89 %
i |t ghfora T ]
T TA9e
(a) w&Y - 3.
(b) 3 - - wEER
c) TerHI - SR
@) foa - FHRYE
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59.

60.

61.

With reference to Deposit Insurance and Credit
Guarantee Insurance Corporation, which of the
following statements is/are correct ?

1. A subsidiary of Reserve Bank of India.

2. Deposit upto Rs. 5 lakh are insured by it.
Select the correct answer usin g the codes given
below :

Codes :
(a) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

Match List — I with List — IT and select the correct
answer from the codes given below.

List -1 List - I1
(Bank) (Type)
A. Indian Bank 1. Foreign

B. ICICI Bank

2

Cooperative

C. CITI Bank 3. Private
D. Saraswat Bank 4. Public
Codes:
A B .\C D
(a) 1 2 3 4
®) 2 F g
(c) 4 2 3 1
(d) 4 3 1 2

Given below are two statements, one labelled as
the Assertion (A) and other as Reason (R).

Assertion (A) : Under Operation Twist. RBI

simultaneously sell short term securities and buys

long term securities. :

Reason (R) : The main objective of this operation

is to promote long term investment.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
‘correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A) *

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

B |

TEJAS =

g, ferifore fwitn WS e A Gt B % g

I.S/O'

-14-

% fferfaa Hert § & FH-81/8 w21 79 3
|, wRdTa frod & 6l Th TEEH 8 |

9. %. 5@ hI S 38 g Affi B |

12 feu ™ %2 F T FA §Y T TN 7 gy

Hifg

(?)aé»—cfa (b) e 2
(©gAi1a2 @ Fd1IRTR 2
gt - I gei- 11 |y gafera A sik 4
fou T e @ TE IW F FIFA HIfT |
et - 1 gt - 11
(CED) (THR)
A. sfem & 1. foch
B. 3. H.aR.d.3mE. §% 2. wEgHh
C. fadt d= 3. fasft
D. 9&=d d 4. GESHE®
Fe:
A B C D
(a) 1 nCCs 4
() 2 371 4
(c) 4 2 3 1
@) 4 3 1 2

A 31 e fon ™ 2 R o B st (A) qen

T H HR (R) & fafga frm man &

ATHHUA (A) : I TR F =t

31,38 0 €1 Twa # sreqehreli ufngf @)

s el sfafrt Bt wlear € |

&R (R) : 30 TR 1 =T Ievd Sehreny faw

F gGHT 2 |

2 T T %2 @ 7 IR F w7 A |

%c :

(2) T (A) 39T (R) ¥ & 71 (R), (A) ! =&t
ST @

(b) T (A) T (R) T Ao (R). (A) F a8
R T8 8

() (A) & & fohg (R) 318ca B

(d) (A) 38 2 fohg (R) T3 8
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63.

64.

65.

66.

Which of the following is a social objective of
business ?

(a) Innovation

(b) Employment generation
(c) Business coordination
(d) Risk management

According to 2011 census among the following

stateg, v'.fhich one has the lowest level of
urbanisation ?

(a) Andhra Pradesh (b) Haryana
(c) Mizoram (d) West Bengal

In which of the following state/union territories,
the “Jarawa Tribe” resides ?

(a) Arunachal Pradesh
(b) Lakshadweep

(c) Chhattisgarh

(d) Andaman and Nicobar:

Match the List — I with List — Il and select the
correct answer from the codes given below.

List - I List - 1II
(Mining area) (Mineral)
A. Guru Mahisani 1. Zinc
B. Talchir 2. Uranium
C. Jaduguda 3. Iron-Ore
D. Zawar 4. Coal
Codes :
A B C D
(a) 1 2 3 4
(b) 2 4 3 1
(© 3 4 2 1
(d) 3 2 1 4

Monsoon originates by which of the following

winds in India ?

(a) South-West winds
(b) South-East winds
(¢) North-East winds
(d) North-West winds

-15-

62

63.

64.

5.

TEJAS - 1

fr=fifiga § @ sgaam & gl 8w 2 7
(a) TETER

(b) TR o

(c) SEEIRIF TH=

(d) Sifas ye=m

20113 ST % SR, Pt T # e
T 1 W e e 2 7

() AT W& (b), i

(c) frrm (d) wfvem s

Pr=fefas T/ Wit sl § <R TSt
F A wme?

(2) IO 2T

(b) A&

(c) BTG

(d) #Team 3R R

gt - 11 g — 113 ar gafea ife s A=

fou ¥ % B B I H A HIAC |
gt - I gt - 11
(@A &) (@)

A, TE afgar 1. S

B. el 2.

C. SR 3. Ag-TEh

D. ST 4. g

Fe:
A B C D

(a) 1 2 3 4

2 4 3 1

©@3 4 2 1

@3 2 1 4

urd o wegy i saaty el wat 8 fras
TR B ® 7 o
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67. Tropic of cancer does NOT cross which of the

68.

69.

70.

following State ?
(a) Tripura
(c) Manipur

Match List — I with List — IT and select answer

(b) Chhattisgarh
(d) Mizoram

from the codes given below.

List - I

(Country)
A. Myanmar
B. Combodia
C. Vietnam
D. Laos
Codes :

A
(a) 1
(b) 2
(c) 4

C
3
4
1
(d) 3 2

.nc.ommw

Match the List — I with List — IT and select the

List - I1
(Capital)
Hanoi
Vientiane
Phnom Penh
Yangoon

Lol

l—-‘tﬂn—l.&.u

correct answer from codes given below.

List - I

(River)
A. Shatt-al-Arab
B. Paraguay
C. Niger
D. Danube
Codes:

A B C
(a) 1 2 3
(b) 2 1 4
(© 3 4 1
(d) 2 3 4

Newly introduced Prerak Dauur Samman by
Government of India in July 2020 is related to

List - I
(City)
Vienna
Basra

Asuncion

R

Niamey

D
4
3
2
1

which of the following ?
(a) Crime status of city
(b) Electricity supply in city

(c) Waste management and sanitation status

of city

(d) Vegetation cover in city

-

TEJAS -1

o7 Feffed § & frg Toa § w4 @1 T8 T R

69.

70.

(a) Brqu (b) BeETG

(c)ﬂ'f&l'ﬂ'( (d)fi‘r&ﬁ'l’ﬁl

@_Iaﬁsﬁﬁ—ll%mgﬁﬁﬁiﬁ’rﬁmw:ﬁ%

fu T e A FE I H T BT |

-1 gt - 11

g) (rTerT)

A. RTER 1. &3

B. wwifsA 2. faafem

C. ferram . 3. 9M =g

D. FaiE 4. TR

%C:
A B C D

(a) 1 2 3 4

() 2 3 4 1

() 4 3 I 2w

(d).3 4 2 1

gl — 1 &1 geit — 11 % 1o gfera shiferg e

412 fou ™ Fe ¥ T IO H FAT HINC |
gt -1 it - 11
&) ()

A. Yd-HAA-3E 1. fog=m

B. WA 2. sHU

C. AR 3. WA

D. 3E 4. R

% :
A B C D

(a) 1 2 3 4

(b) 2 1 4 3

© 3 4 1 2

@ 2 3 4 1

S8 2020 H WRA TR G & foRan T e gR
g Frefofea o & fred wefim & 7

(a) W& T IRy I R

(b) W& # feroreft amyfd
(c). AR Jaue IR W& i e fufa
(d) IR H sl 1 3TE
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74.

75.

76.

Aok

In whu_‘h .“__wmto of India, the scheduled caste
population is zero as per census 2011 ?
(a) Kerala

(b) Nagaland
() Sikkim

(d) Assam

‘Sar.lkalp '_Parva‘ celebrated by Government of
India during June-July 2020 is related to

(a) Tree plantation

(b COVID lockdown

(c) Dedication towards army
(d) Online education

“Blue Revolution” is related with the following
(a) Food grain production

(b) Oil seed production

(c) Fish production

(d) Milk production

Which of the following rivers the “Chitrakote”
water fall is located ?

(a) Yamuna River
(b) Mandakini River
(¢) Indravati River
(d) Narmada River

The Kumaun Himalaya is situated between
which of the rivers ?

(a) Indus and Satluj
(b) Kali and Tista
(¢) Satlyj and Kali

(d) Tista and Brahmputra

The National Afforestation and Eco
Development Board (NAEB) was set up by
Government of India in the year

(a) 1987 (b) 1992
(c) 1995 (d) 1998

Which one of the following was the theme of
Statistics Day celebrated on 29t" June 2020 ?

(a) Statistics in Trade
(b) COVID - 19
(c) Statistics in Governance

(d) Sustainable Development Goals

i &

3.

74.

75,

Tihs
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TE-JAS - I

2011 H SVFT % IEER Fd % Freferfaa B
T A argfa sife e g R 7

(a) WA NOELSH

(c) Torfemm (d) &=

ST B GRT S-S 2020 T THE T T T

(a) FERET &
(b) SIfdrs wAfherA ¥
(c) & % wfy wwdor &

(d) 3 e &

‘St smf” Fre § @ a=fRa R
(a) W= 3cacH &

(b) foreTe Iareq &

(c) Wt e A

(d) g I |

‘R’ oy Pefafga T a fm i m g ¢
(a) FHAT T T

(b) werfert & T

(¢) FEEdt T8 W

(d) THel e T

Y oo fimferftaa d Al s R @ 2
(a) Tory 3 qaes

(b) Sreht 3R e

(c) Taerst 3 et

(d) foem R &g

T st v aiifRfoes feerg 91 (NAEB) $t
T A TR g S 8 oft

(a) 19871 &y 1992 %

(©) 1995 (d) 1998 %

Frfafea % & ¥ & 29 7 2020 | TR W
wiferh feam = fwa () on 2

(a) SR ¥ Hifegh
(b) #IfaE — 19

(c) YA # wifeshr
—(d) Faa fore wem
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79.

80.

81.

82.

83.

84.

Which Bollywood actress received the ‘Padmashri”
Award in the year 2020 ?

(a) Taapsee Pannu (b) Shraddha Kapoor
(c) Kangna Ranaut (d) Bhumi Pednekar

In January 2020, how many “Padma Vibhushan”
were conferred Posthumously ?

(a) 4 () 3

(c) 2 @ 1

Who has been honoured by the International | 80.

Olympic Committee with the “Coaches Life
Time Achievement Award 2019” ?

(a) Ravi Shastri

(b) Pullela Gopichand
(¢) Prakash Padukone
(d) Sunil Gavaskar

International Mother Language Day is
celebrated on

(a) March 20 (b) January 25

(c) February 21 (d) December 21

“Operation Vanilla” launched by Indian N avy
in January 2020, is related to which one of the
following ?

(a) Disaster Management

(b) Oil Exploration

(c) Anti-Terrorist Operation

(d) Coral Reef Conservation

Joint Military training exercise “Ajeya Warrior-
2020” was carried out between which of the
following countries ?

(a) India and United Kingdom

(b) India and Israel

(c) India and France

(d) India and United States of America

With reference to “Ek Bharat Shrestha
Bharat” which of the following statements
is/are correct ?

1." This campaign was carried from 10th o 2gth
February 2020.

2. The objective is to promote the spirit of
National integration through various
cultural activities.

Select the correct answer from the codes given

below.

Codes:

(a) 1 only (b) 2 only

(c) both 1 and 2 (d) Neither 1 nor 2

-18-
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79.

81.

TEJAS -1

ﬁ;ga—,gﬁggaqﬁﬁa‘rﬁaézozoﬁ‘wﬁ"wm
frem 2

et (b) #&1 FL
Gemn @
et 2020 § PR “qRr RngEor” QEERR ORI
R WY 7
(a) 4 (b) 3
© 2 @ 1
st s wftf g R PR T 2
arfiaiee aare 20197 @ @wTia ka7
(a) T et
(b) gt M=
(c) ST TgehITT
(d) G Tt
FRISi AT fea@ T S @
(a) 20 HTE HI (b) 25 FaL H

(©) 21 wTEd (d) 21 femrat =

AT ) BT G SHe 2020 T & Forer mra “omaee
e Feffea # @ fra o A amfRa R 7

(a) HT9ET YE=u

OESEIRCIE

(c) HTahaTe faH e

(d) ware i deemor

I &1 e I Iy afEr-2020”
ﬁm%@aﬁﬁﬁﬂésﬁ%aﬁamgan?
(@) ¥ 3R T ffren

(b) ¥R 3R SRS

(c) WRa 3R %G

(d) wRa 3k "y TS I

“TH WA A AR % g i e § @
BH-1/H Fo T R

1. ¥ AW 10 waht F 28 Fah 2020 T
el |

mv@amaﬁw'm%l
ﬁ%ﬁw@rﬂﬁ%aﬁmmwaﬁﬁm
w”:

(a) e (b) Faat 2

@3 132 @ Fdt 13k
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86.

87.

88.

89.

90.

" (¢) Thursday

If CARPET is coded as T'C EAPR, the
for NATIONAL would be » then the code

() NLATNOIA
(b) LANOITAN
(©) LNAANTOI
(d) LNOINTAA

A Frain 1s running 3 minutes late and further
it is getting delayed by 3 seconds per minute.

After how many minutes this train will be
delayed one hour ?

(a) 1140 minute (b) 1150 minute

(¢) 1160 minute (d) 1800 minute

In a certain code language if HE = 41 and
SHE = 49, then THEM will be equal to
(a) 62 " () 90

(c) 64 (d) 56

If 3'd December 2000 was Sunday, then what was
the day of 3™ January 2001 ?

(a) Tuesday (b) Wednesday

(d) Friday

“Dream” is related to “Reality” is the same way as
“Falsehood” is related to which of the following ?

(a) Untruth (b) Truth

(¢) Fairness (d) Correctness

What number would come in place of ?

/\

348 18
172 40
?
(a) 72 (b) 84
(c) 68 (d) 60

-19-

8A.

86.-

817.

88.

90

TEJAS -1
af2 CARPET # g 1 #f TCEAPR feran =1 &,
A NATIONAL, = 3 91 # foran s

ta) NLATNOIA

‘b) LANOITAN
(¢) LNAANTOI

(d) LNOINTAA

s Yt 3 fire e @ 9w @ 3t o 98
% e 3 G- e g o W 2 | Fasg
% 78 Yo ey fimet ¥ wre qu 1w fae
g St ?

(a), 1140 e
(c) 1160 fre

() 1150 fire
(d) 1800 firFe

et vk Affas 2w § afg HE = 41 3R
SHE = 49 7@ THEM foras suet gim ?
(a) 62 (b) 90

(©) 64 d) 56

afy 3 fewer 2000 F W@ o, @ 3 S9ad 2001
WP A 7
(a) HTEER

(c) TRAR

(b) FUER

(d) TR
T S Y S aRar A R, 6 e fer
o+ Ty frafofaa 18 frd @ 7

(a) AT (b) &

(c) Fragan d) TE

T wm ? W -t T am 2

/N
348 18
172 40
\/
(a) 72
(c) 68

(b) 84
(d) 60
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m TEJAS -

91. ; : -
How many capital letters of English alphabets | Q1. 3ficf aviaren & frm 73 arawt & gur & g Sfofag

have same mirror image ? e
(a) 9 () 10 (a) 9 I (b) 10
(© 11 d) 12 © 11 d) 12
92. Where is “Leather Technology Park” situated ? 9g  “qet FIeiS uTeh” HET STared § 7
@) Agra () Kanpur (a) AT (b) HFF
(©) Unnao (d) Noida (c) 3= (d) AT
93. When_was t-he State Higher Education Council | 93 3.5. # U= I== fen e a0 w@nfia i w=f 4t ?
established in U.P. 2 '
(a) 1990 ®) 1995 (a) 1990 (> 1995
(c) 2000 ) 2005 (c) 2000 (d) 2005
94. Which fth i irs i
mamhe{:ln? of the following pairs is NOT correctly | 94. fr=foriaa i § -8 wE gafera @ ® 7
(a) IIVR - Lucknow ‘a) IS, 3. - SACRES
(b) IIPR T —_— (b) IS, f 3w - AW
(c) IVRI - Izatnagar (c) 3ms. .. 3 - SRS GRS
(d) IGFRI £ Jhansi (d) FEsfussmamE. - i
95. Which one of the followi irs i f
mamhedn; of the following pairs is NOT correctly .95' ffafaa guit & F-wr wdl AR 2 7
(a) Hem or lace work — Lucknow and - (a) e 1 Hrt — @S 9 FEuREt
Varanasi faer K qﬁzﬁ' —
(b) Brass Idol/statue — Mathura o qﬂ”ﬁ
(c) Locks — Aligarh (&) T -
(d) Cane and sticks — Varanasi (d) ¥4 7 sfeat — SR
96. Match the List — I with List - IT and select the [ 96. g — 10! et — 11 % 919 gafr $ifdme aen 3 R
correct answer from the codes given below : ™ = o4 Y 98 I H 999 i .
List - I List - IT -1 '
(Fai;/Mela) (District) m- ‘.Eh 1
A. Devi Patan Mela 1. Agra _ ( ) ( )
"~ B. Kampil Fair 2. Balrampur AL 3 e e T
C. Bateshwar Mela 3. Farrukhabad B. Fwrier de 2. FHRHY
D. Dadri Mela 4. Balia C. ¥R Bl 3. FEEER
—_— D. geft %en 4. sfeEn
A B C D e
@) 4 &= =2 4 @) ? 123 g 4
a 4
® 4 1 2 3 ® 4 1 2 3
() 2 3 1 4 (© 2 3 1 4
d 3 4 12 @d 3 4 1 2
B -20-
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B

97.

98.

99.

100.

101.

102.

Where are

Buxa Tribeg living in Uttar Pradesh ?
(b) Balrampur
(d) Chitrakoot

(a) Bijnor
(c) Shrawasti

How many main -cli . ]
Pradesh? e Cimaticaones are n itar
(2) 9 ®) 3

(c) 5 d 8

Acting Judges are appointed in
(a) Supreme Court

(b) District Court

(c) High Court

(d) Both (a) and (b)

Which of the following is NOT corr,
ect]
as per Constitution of Tndia 2 y matched

(a) The Panchayats —

Part — IX
(b) The Municipalities — ~ Payt — IXA
(c) The Cooperative — Part —-IX B
Societies
(d) Tribunals - Parta X

Which of the following is NOT correctly matched ?

Fundamental Article
Right
(a) Abolition of - Art. 17
Untouchability
(b) Protection against
arrest and detention —  Art. 23
(c) Freedom of Religion —  Art. 25
(d) Protection of - Art. 29

Interest of Minorities

The difference of the Government Minimum
Support Price (MSP) and market price, which
is paid directly to the farmers under W.T.O. is
called

(a) Blue box subsidies
(b) Green box subsidies
(¢) Yellow box subsidies
(d) Pink box subsidies

97.

100.

101.

102.

21-

TEJAS -1
I s H g et et wd 7
(a) fererEc (b) FTHIT
(c) HTaE (d) FEge
. IR # P e FR-wierarg 8 R 7
(a) 9 (b) 3
(¢ 5 @ 8
FRH =rreie 6 frgfFa H o 2
(a) I=GH TS
(b) Fren =mmea
(c) 39 <RITe™
(d) (2) T2 (b) 1 &
Ferfofaa & @ F wrela dhm ¥ srar a@
gt @ 7
(a) "=mad = WM-IX
(b) Tt - WM-IX%
(c) el mfufoat -  ¥m-IX®
(d) Ffteso - Wm-X
Fe 3 3 2 v R @i 2 2
it sREn I
(a) IFEGEHAT I 314 - 3. 17
b) Pl wd fw — 3. o3
foreg weam
(©) w & T - ¥ 25
(@) svwweHi % fRdt — s, 29
HT L
s ALl & I W g Tl g
(qq.qa.tﬁ.)t{émq@%mmmﬁﬁmﬁﬂ
WA fohan s 2, 3% et e 2
(a) Hfen aiaw gl
(b) & =T| R
(c) fren siaq watRe
(d) T St Tt
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103. Inrecently announced central budget 2020-21,
in which among the following budget allocation
has been decreased in comparison to budget
2019-20?

(a) MGNREGA

(b) Ayushman

(¢) Mid-day Meal Scheme

(d) National Ganga Cleaning Scheme

104.  Consider the following measures that R.B.I.

uses to control inflation in the economy.
1. Increase Bank Rate

2. Increase Cash Reserve Ratio

3. Increase statutory liquidity Ratio

4. Purchase of government securities

Select the correct answer from the codes given
below.

Codes :
(a) Only 1 and 2
(c) Only 2, 3 and 4

(b) Only 1, 2 and 3
(d) Only 1, 3 and 4

Which is the first month of Indian National
Calendar ?

(a) Phalgun (b) Magh

(c) Paush (d) Chaitra

“Navarathri” is celebrated as Saraswathi Pooja
in the following state

105.

106.

(b) Karnataka
(d) Telangana

(a) Kerala
(c) Tamil Nadu

With reference to the Indian Culture Portal, which
of the following statements is/are correct ?

I. Tt has been developed by a team from
I. I. T. Roorkee.

II. Tt is the Government’s first authorized
portal where knowledge and cultural
resources of various organisation of
ministry of culture are available in public
domain on a single platform. i

Select the correct answer from the codes

given below.

Codes:

(a) Only I

(b) Only 11

(c) Both I and II

(d) None of the above

107.

103

104.

105.

(08,

107.

-29.

TEJAS -1

a1 € 3 e 3w 2020-21 A Frfea frg
A W 3T 2019-20 H o A FAEINR 9
(a) FARIT

(b) SATHH

(c) AEATE WIS ISl

(d) T 7T HETE AT

fArefifaa sy w fem w®), B o &t o,
arefsraeen & gEredifa ® Fafd # g s §

A g |

1. %% A gfg .

9. qehe IR I # Jha

3. Gifqenfye werar sEaE § 9fg
4. grHTh wfefadt 1 4

M Ry M ¢ § ¥ T IW 1 =4 HINT |
e :

(a) Faed 1 3R 2 (b) &ae 1, 2 3R 3
(c)%aeT 2,334 (d) ¥aa 1, 3 3N 4
TR T Shetet 1 IoH wie FR-mr g 7
(a) ST (b) HT9

(c) iy CE]

“GIUR” i mEEdt o % wv e os § mamn
T B

(a) ¥ d Ab) wtes #

() aftrerg o (d) dem °

WRH FEpla Nea & g #, Arefofaa § &

FH-A/A T TR D 7

1. 38 37§, aTs. & w=h A M F g fsha
R m g |

I1. T% §WhR 1 qgen Afpa e 2, gt
H@hﬁm*ﬁrﬁ:w@%mqﬁ
Wﬁ*mﬁaﬁaﬁwﬁa@ﬁﬁqﬁw
AEHTH H ITeeY T T R |

A9 e e ¥ 3o = B |

L T

(a) A

(b) & I1

(c) GF1 I 7e I1

(d) 37 § F 9 7
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108.

109

In the vertical structure of the
which one is the lowest layer ?

(a) Stratosphere (b) Mesosphere
(d) Thermosphere

atmosphere,

(c) Troposphere

Which one of the following acids is used i in the
car-batteries ?

(a) Acetic Acid
(b) Hydrochloric Acid
(c) Sulphuric Acid

" (d) Nitric Acid

110.

111.

112.

118.

114,

115,

Potato chips are packed in plastic bags in the
atmosphere of

(a) Nitrogen Atmosphere
(b) Hydrogen Atmosphere
(c) Oxygen Atmosphere
(d) Iodine Atmosphere

Which one of the following process is NOT
useful for purification of solid impurities ?

(a) Distillation (b) Sublimation
(c) Crystallization  (d) All of the above

Which one of the following colours of white light
is least deviated by the glass prism ?

() Red colour
(d) Orange colour

(a) Green colour

(c) Violet colour

Asafoetida is obtained from
(a) Exudation from the stem
(b) Extraction from roots

(¢) Extraction from fruits
(d) Extraction from leaves

Three chambered heart is found in
(a) Mammals (b) Birds
(¢) Amphibians (d) Pisces

Who was the Commander in Chief of the Rajput
Army, besides Maharana Pratap in the Battle

of Haldighati ?
(a) Ibrahim Gardi
(c¢) Tardi Beg

(b) Hakim Sur
(d) Mahmood Lodi

108.

109.

110.

111.

112.

113.

114,

115.

-23-
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TEJAS -1
SgHEe i wrad Gtad § wad el waE
- AR 2 7
(a) BRI (b) HnfeRK
(c) SRR (d) HifeRT

Arefiiea st 3 A Rrg a1 1 Iwam HR-defEl
d RS g ¢

(a) wHifew 3t

(b) ETEZIANE F=A

(c) FEHfTH I

(d) TEfeen an

] 35 e wenfeeen 3 At o wghra R i
(a) ATFGIH FrATEOr §
(b) ETEGIH ST |
(c) AT SraTeor &
(d) L TrareRor #

3w sgfedl ¥ ghww F fog fafafea 3 @
-4t ufsEan Srarft a8 & 2

(a) 3TTEEA (b) IeATH

(c) TopEasitentom (d) 3w auft

e e 1 Juflrg FrfoRea @ § § SR-mr @
s < B g get o fRefm @an ? 7

(a) B0 (b) & T
(c) St T (d) raft @
g v 6 9t ®

(@ R AEE A

OESERE LK

(c) Fet & Frsdor 3

(d) ufrt & frsewdor @
Pty gea arn wmar 2

(a) TuThE # (b) it
(c) = (d), wosfera &

FISIE % Fg H TGO 1T 3 A TG 7
1 ATl B o1 7

(a) TTEH T (b) T T
(c) Tt am (d) wEE W
110009
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116.

117.

118.

With reference to “the causes of the success of
British and failure of the French in India” which
of the following statement is/are correct ?
1. Getting huge wealth and manpower from
conquest of Bengal by British.
2. Naval superiority of the British.
Select the correct answer from the codes given

below.
Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

Which one of the following is NOT correctly
matched ?

_ Acts Year
(a) Prevention of Sedition - 1908
Meetings Act
(b) Explosive Substances Act - 1908
(c) Indian Criminal Law - 1908
Amendment Act
(d) Newspaper (Incentive to
Offence) Act - 1908

Match the List — I with List — IT and select the
correct answer from the codes given below :

List-1I List - II
A. Rampa Rebellion 1. 1859-60
B. Pabna Peasant 2. 1879-80

Revolt
C. Bengal Indigo Revolt 3. 1860-63
D. Jaintia Rebellion 4. 1873-76
Codes :

A B C D
@ 2 1 3 4
®b) 2 4 1 3
© 1 2 3 4
d 4 2 1 3

116.

117

118,

-24-

TEJAS -

‘e & 3P I TEeTaT qun Stk Y STEsa ¥

Fro ¥ gl Fra A f A PA-T/A TR R 7

1. 37T Y I faeg @ IR o9 T
T w1 fer |

9. 3 Y FgaR el R |

A o g § ¥ GH IR F FIA HINC |

e

(a)aﬁﬂ
(b) A 2

(c) OFt 1 @1 2
@Fd 1M 2

frferRaa & @ B-a1 o gAfoa i @ 2

sfafam a4
(a) T TTaAl 1 T 1 - 1908
Ffrfem
(b) Faepies gt srfufram — 1908
(¢) W BISEHY I TSie
Aty - 1908
(d) THTERYA (3Td! & forg WeameT) - 1908
arfufam

el I 9 g 11 & |1y gafera Aife qen =

ﬁqnﬁwﬁﬁﬁmwwﬁﬁm:
-1 o -1
A. T fage 1. 1859 — 60
B. e fram faghe 2. 1879 — 80
C. s it fage 3. 1860 — 63
D. sEfean fagre 4. 1873 — 176
Fe:
A B C D
9 2 1 3 4
® 2 4 1 3
© 1 2 3 4
@ 4 2 1 3
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119.

120.

121.

122.

123.

Which Ruler of Delhi Sulta te d .
as “Khalifg” ? nate declared himself

(a) Balban

(b) Alauddin Khilji

(c) Mubarak Khilji

(d) Muhammad bin Tuglaq

Which one of the following was NOT associated
with Indian National Army (LN.A) ?

(a) Rashid Ali
(c) P.K. Sahgal

(b) Shahnawaz
(d) B.C. Dutta

Which of the following statement is NOT true
about the “Quit India Movement of 1942” ?

(a) It was led by Mahatma Gandhi
(b) Congress was declared an illegal body
(c) It was a non-violent movement

(d) It was a spontaneous movement

By which of the following Acts was the India
Council abolished ?

(a) Morley Minto Reform 1909

(b) The Government of India Act 1919
(¢) The Government of India Act 1935
(d) The Indian Independence Act 1947

Consider the following events and arrange
these in chronological order.

I. Cripps proposal
II. August offer
III. Wavell plan
IV. C. R. Formula
Select the correct answer from the codes
given below.
Codes:
(a) I, I, IIL, IV
() IL, I, IV, III
(© I 1II, IV, III
(@ 1, IL, I, IV

Al

(121

-25-

119.

120.

122

123,

TEJAS -1

feeh e 6 fv T Y o T W “TEAET
aifta == fear or ?
(a) ScTs

(b) FAREH Raesh
(c) qaTeh et

(d) genTe fam gere

frafiaa I A B o Rg B (EW.T) FF
AR A ?

(a) TEftg 3t
(c) . &. W

(b) SMEASTS
(@) i . @

“1942 % YRd B e & ar § Prafafea &
YIA-TFIA AT G R 7
(2)-FEHT e wgTenT- TR fr T

_(b) S HI T FEure g afver fma mn

(c) 9% T HfgEeh < A
(d) ¥% T A Txd AEeH ot

Frieiiga stfufeadi & o fraes gro i uftee (zfeean
Hifter) = T foRa T 7

(a) WA foY YR 1909

(b) WRa g At 1919
(c) Wa TR fuf=m 1935
(d) Wi T&a=an At 1947

Fraferaa weredl w iR qur ==
HICHHAHER e fife |

I. v

I1. 3R W&

1. ¥« It

IV. |, 3. wfen
Hr fow W gz A wd s w1 T A |
w2

(a) II, I, I1L, IV
,0) 1L, 1, IV, III

(©) I, IL, IV, 11

(d) 1, I1, 111, IV
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e
124.  Which of the following is NOT correctly matched ?

Organisation Person

(a) Young Bengal Henry Vivian

Movement Derozeo

(b) Bahishkrit — Jyotiba Phule
Hitkarini Sabha ,

(c) Theosophical — Colonel Olcott
Society

(d) United Indian — Syed Ahmad
Patriotic Khan
Association

125. Which one of the following is NOT correctly
matched ?
Crop Weed
(a) Wheat - Phalaris minor
(b) Paddy - Bathua
(c) Pea - Piyazi
(d) Berseem - Kasni

126. Match List—I with List —IT and select the correct
answer from the codes given below :

List -1 List - II
(Crop) (Season)
A. Sunflower 1. Kharif (rainy)
B. Muskmelon 2. Zaid (summer)
C. Cotton 3. Rabi (winter)
D. Linseed 4. All the season
Codes :
A B C D
@ 3 4 1 2
® 4 2 1 3
) 3 4 2 1
d 2 3 4 1

124.

125.

126.

-26-

TEJAS -

frefefea o @ F-a1 ad gafea TR
A =t

() T WM AT — &t S

(b) e oot — e B
aHr

(c) Terdeiifthepet AT — Hct TehI

@ Fees T — TR T GH
¥fyfess TafRTH

freferfea & & AF-w1 w8 gARA TG & 7

A TRYAAR
(a)ﬂF: - FARY HATER
(b) & = g
(c) AKX - At
(d) s ~
gt - 1 =1 gt - 11 & gy gafera ifdng aun i
u ™ gz ¥ A 9t IW H v FHIT
Tt -1 et - 10
(wwet) (virem)
A. gemE 1. G0% ()
B. @l 2. WEg ()
C. 19 3. Wit (&)
D. et 4. a+ft gram
He:
A B C D
(@A 3 4 1 2
® 4 ,2 1 3
0 3 4 2 1
@ 2 3 4 1
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i

127.

128.

129,

According to Fortune India List of 500 companies,

the biggest corporation/company in 2019 was
(a) Indian Oil Corporation Ltd.
(b) O.N.G.C.

(¢) Reliance Industries Litd.
(d) S.B.L.

According to American based think tank
population Review Report 2020, which of the
following statements is/are correct ?
1. India’s GDP in 2019 was ¥ 209 lakh crore.
2. India emerged as fifth largest economy of
the world.

3. India over take countries like Britain and
France.

Select the correct answer using codes given
below :

Codes:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1, 2 and 3 correct

Given below are two statements, one labelled as
the Assertion (A) and other as Reason (R) :

Assertion (A) : Lucknow’s Defence Expo 2020

was the Asia’s biggest Expo of defence products.

Reason (R) : The Expo was organised to portrait

India as emerging defence manufacturing hub.

Select the correct answer from the codes given

below :

Codes :

(a) Both (A) and (R) true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not
the correct explanation of (A)

() (A) is true but (R) is false

(d) (A) is false but (R) is true

TEJAS -1

127, wef ¥ 1 500 FPA £ gl ¥ R T

128

129.

-27-

2019 ¥ wEd w&) fm /@ &t

I smaRE R 3% sae aden ROE 2020 F
AR Prefrfe § 4 AA-F/A A aR 2 ?
1. 9Ra B HAH. 2019 F T 209 @@ RS At |

2. T g i gieh wd W srfeaen $
TH IR |

3 Ay s sm R T R dR s 2 |
1= e g2 w1 @ A g FE W
Wﬁﬁﬂ{:

e :

(a) A 19 2

(b) 91 19 3

(c) g 29 3

() 1,29 378

2 2w Ry T & Rl o ) st (A) T
T A F(R) A Rl R 2

FHUT (A) : TGS R Tl 2020 TR F
& I T WY 7T QT o7 |

/I (R) : THEAY T RIS WRA HY I 7 @0
IATEA Hg F T A G B AT |

ﬁ%ﬁqn&ﬁﬂnﬁmwwﬁﬁq:

L T

(a) T (A) 71 (R) &9 & 7o R), (A) 6 g

T B

®L I (A) 7 (R) 71 & 7o (R), (A) 6 7

e T 3
() (A) & & fhg (R) ataeg R

() (A) 38 2 fFg R) v @
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130.

131.

132.

133.

134.

Following are the estimated source of revenue of
the Union Budget 2020-21. Match List — I with
List — IT and select the correct answer from the
codes given below.
List -1 List - II
(Source) (Percentage of
Revenue)
A. Corporate tax 1. 17 percent
B. Income tax 2. 18 percent
C. Customs 3. 7 percent
D. Central Excise 4. 4 percent
Codes :
A B C D
(a) 1 2 3 4
4 3 2 1
(c) 3 4 1 2
d) 2 1 4 3
Genetic industry includes
(a) Agriculture (b) Fishing
(c) Hunting (d) Mining

Which of the following rivers of India crosses the
tropic of cancer twice ?

(a) Mahi

(b) Chambal

(c) Narmada )
(d) None of the above

Which of the following census years is known as
the “Great Divide” in the demographic history of
India ?

(a) 1901
(c) 1931

(b) 1921
(d) 1941

“Tulbul” project is on which river ?
(a) Satluyj (b) Jhelum
(c) Ravi (d) Beas

130.

v

131.

132.

‘1/33

134,

-28-

TEJAS - |

frfeaa =g s91e 2020-21 F FTHTG Mg §
dia ® | g - 13 gl - 1% a1y gafaa fif
aon e R T $e @ v IW & T Afdg |
gR-1 it - 11
@) favma o)
A. fom s 1. 17 9fawa
B. 3G & 2. 18 wfasra
C. €1 Yo 3. 7 wfasa
D. %51 I« Yob 4. 4 Wiawa
e :
A B C D
(a) 1 2 3 4
() 4 3 2 1 |
() 38 4 1 2
@ 2 1 4 3
SHies Iam § gftifera &
(a) FY. (ORESIRESS]
() PR T (d) @
fr=fafga wra ) afedt & 999 o6 a1 5t @ w1
IR HA B 7
(a) AT
(b) =+ =
(c) T
(d) 34T 7 A i &
i o a8t 3§ o v 6 i shem
4 mgH T S sw ¥ I o R 2 :
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Consider the following statements and select the
correct answer from the codes given below.

L Rihand Dam ison a tributary of the Sone
river.
Hirakund Dam is on Mahanadi river.

3. Tungabhadra project is a joint venture of
Andhra Pradesh and Karnataka.

4. Maithan Dam is on Barakar river, a
tributary of Damodar river.

Codes:

(a) 1, 2 and 3 are correct

(b) 1, 2 and 4 are correct

(c) 1, 3 and 4 are correct

(d) 1, 2, 3 and 4 are correct

to

National Green Tribunal (NGT) was established by

the Government of India in
(a) 2007 (b) 2008
(c) 2009 (d) 2010

Which one of the following is NOT correctly
matched ?

Country Iron-ore
producing area

(a) Kazakhstan X Karaganda
(b) Ukrain - Krivoy Rag
(c) Germany - Normandy
(d) France - Pyreneas

Which one of the following is correctly matched ?
(a) Lorren Industrial Region - Italy

(b) Ruhr Industrial Region — Germany
(c) Bristal Industrial Region — France

trial Region — United
(d) Saxony Industria Kigior

Which among the following coun_trie?s NOT
located on the western coast of Africa ?

(a) Gabon (b) Botswana

(c) Liberia (d) Angola

Forest Research Institute is located in

Bhopal
(a) Dehradun (b)
(c) New Delhi (d) Nagpur
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